This que;tion Paper contains 170 questions. / 38 5% %
All questions are compulsory. T

QUESTION BOOKLET
F1709FE |

I
One question carries half m: , F fora Fae AW IHE ]
Maximum Marks - 85 mark anly. / T3 Hftrhad F - 85
Time : 2 Hours g : 2 9%

Cost which do not vary with production or sales levels are called
(A) Variable cost (B) Standard cost
(C) Independent cost (D) Fixed cost 3

IATEH WYl Al e A agEd Agi e dg Aa
(A) yftadda @ra (B) WRE@PE  (C) &ad rd (D) Fraa=rma
Niche market means |
lAj) A Social market
(C) Specific market
TAT G911 &
(A) THE
(C) faftre =g

Gestural communjéan
A) Non-verbal, sadl
é(!:; Oral convefSation™
(E!%i%ﬁfﬁﬁ - T,
(A) Fmfeee tramuﬁ__ REgR]

Procedures are detadls of

Price of cycle 1s T 299.50 is an example of _ .
(A) Penetration H) (';st plus  (C) Skimm‘mg () Psychological
qTafeRe #1-ahikd €200 SUR, TR T IR R |

: sefege ifdt

A) faga (B) || A
(A) B AR

(C') r o :
Hire purchi{ﬂf@rtﬁgg: fﬁh@&ﬂ 1‘: 3%&%.%P%L:sjllf&m

Four m]nuutrm\slil T
casﬁh price ol A 50,000 B 1 3133 992 ¥ 10,000 R | vfa 94 & @ &
: aﬁtﬁ:ﬁﬂ?ﬂ— dﬁﬂﬂ?_{, . .000 | 4
7 2 10,000 & 91 arfda f&ﬁ | 8 gufe &t The Fma w1 7 2
(A) 2 35.400 (1) 45450 (€) 27,000 (D) ¥53,557
A Brand convey alues (C) Cultures

Sates. (13 Values ultures (D) All of these
'- 13 Hed (C) wepfaai (D) 7w

(A) [l e e e e e e e
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10,

11.

12.

13.

14,

FICCI was founded in which year ?

FICCI < wemqer fopw ad g8 2

(A) 1927 (B) 1928 (C) 1929 (D) 1930
Retiring partner is compensated for parting with the firm’s future profits in
favour of remaining partners. The remaining partners contribute to such
COmpensation account in

(A) Gaining Ratio (B) Capital Ratio

(C) Sacrificing Ratio D) Profit-sharing Ratio

% I M e kL
I G forr T | AT WS AR SRR @ AR AT &4 £ |
(A) T 39T (B) it s

(C) wm 3rgama (D) - RvTe FEI

A, B, C are partners in 3 : 4 : 2, B wants to retire from the firm. The profit

on revaluation on that date was ¥ 36,000. The new ratio of A and Cis 5 : 3.

Profit on revaluation will be respectively distributed as

A,B,C 3:4:2 % %74 yrfier €, B wd 4 fage g1 wmed & | 39 a0@ W
T ETH T 36,000 YT | A 3 C 1 71 3P 5 38| THeTHA T

TR EER: faam . & | |

(A) % 16,0000 (B) % 12.000, 16,000, 8,000
(C) T 22,500, 1,000, 12,500 _AB) 323,000, 625, 12,375
The owner of debenture is qualified for |,
(A) Fixed-rate interest«, “ 1, 4B) Company’s voting right
C) Firm'’s profit share%!-ﬁ.m% 1' - (D) Fixed dividend

<hLH e : .
(A) FRfa e (B) Tt % Hafiram
(C) FH 3 ol 2 (D) fra smamw

The form of a discount on issue of debenture is in the nature of
(A) Deferred revenue expenditure  (B) Revenue loss
C) Capital loss (D) None of these
e ot o wg 1 E@EY & TR 1 BT & |
(A) ARYRE Toea =4 (B) T &I
(C) it &1 (D) 378 & 1§ T

Tax on imports can be treated as |
(A) Collateral (B)_Foreign trade (C) Terms of trade (D) Trade barrier

TITA W H Bl & @R 9 |1 AT |
(A) TOfee (B) fagsft=mm (C) AR TE (D) YR 7Y

When did the Government remove the barriers for trade and investment in

Indi
u%aﬁ?mmamﬁaw%mﬂﬁﬁmimﬁm?

(A) 1990 (B) 1991 (€ 1992 (D) 1993

——— e e e — ———




15.

16.

17.

19.

20.

21.

: 3] Balance means
When Debit Balance js equal to Credit Balance then the Trial B

(A) " Account Balances are correct
(B‘I Mathematically Capital + Liabilities = Assets
(C) No mistake in recording transactions

(D) No mistake in posting entries to Ledger ACCOUmS - ot
ST AT S 51 Q9 T 31 3 T G € & 78 e 198 '

(B) i + arfres = anfert

(C) H it e 3 G e T £ |

(D) Eﬁmaﬁm—a@ﬁﬁrﬁamﬁﬂém?ﬁ%j
Which of the f'ollowing account with normal balance 1S sh
side of Trial Balance ?

own at the Debit

(A) Creditors Account (B) Unearxed inc:)me Account

(C) Rent income Account (D) Cash Accoun .
me%ﬁn%ﬁaaﬁﬂﬁqﬂﬁmﬂﬁﬁ%%qﬁwﬁmm% .
(A) THER il (B) sfid 3T

(C) Torn 31 v (D) Hehg il

In how many ways cost classification can be done ”
(A) Three ways (B) Twoways (C) Many ways (1)) Four ways
#Te affeRtyl foha wehr & fagan s weman & 2

(A) o w&m (B) 2 wehT (C) 3F TR (D) IRTHR

What is tender

(A) Estimation of selling price (B) Estimation of cost

C) Estimation of profit (D) Estimation of units

1('#1%37 R

(A) fasra Fiua &1 s (B) #TTA HI AT

(C) &9 &1 3HiFeiA (D) IFEG F 3HAT

The word limited should appear after the name of

(A) Partnership (B) Statutory Company

() Chartered Company (D) Registered Company
e F AT & dYe S wtau |

(A) wifiert () FEEEH () TEER (D) P a
Deferred shares are generally issued to

(A) Government (B) General public(C) Promoters (D) _ -
HqIATAd; HTETA 9 () & e R Managing agents

(A) 8N (B) AWM (C) TR (D) wEy v
What is the person known as who draws a bill of exchange 2

(A) Drawer (3) _l_‘s:.‘“_.. (C) Drawee (D) None of these
1 safan fatama feqraen r:w@mm%?

Ay Al () TEAE(C) 3R DY wad g

(A) A8 ¢ (D) ¥ 8w

Code Ny, - C:'—?i;ll?u_ZITSe;i:S:\
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23.

24.

28,

26.

27,

28.

29,

30.

il

What kind of acceptance is known as when the bill is accepted without any

condition ?
%é)) gllﬂl:hed acceptance EB Conditional acceptance
o Rt ﬁ;cc; tance D) General acceptance

1 19T 1 Tl feber e a8 gy ford TR 1 & 7

(A) Wfiw whgfa (B) wod gl (C) foiw gy (D) @A

Oil refinery and sugar mills are classif; hich i ;
A) Primary (B) se?;g;%;',;“”{%d] Ul,}_liﬁi:rl;lch ‘“fﬁ%“‘ﬁ%?;e of these
T TN TS et 1 9 2 veim i fi ovan T 8 7
I(NJA) serfiv (B) feefryes (C) Fefra= (D) sﬂﬂ‘ﬁaﬂq—@
ame the process that converts a message into o icati bols
(A) Media {B) _Feedback (&) 'Decodmmunicasion Y ding
T HeY & GEROT ® wfafda Fet @ 30 s & am g |
Wh Rl (B) wiagfe  (C) fawen (D) WA
If the profit is ¥ 15 and Margin of safety is 20%. The contribution will be
gfe &y 2 |S%aﬂtgtmﬁwm20%ﬁmém ©eont

A) T3 (B) %> (C) ¢75 D) ¥30
hich Of: the fO“UWiIIg 1s periodic cost ?’ bk (D)
A) Variable cost (B) Overhead cost(C') Fixed cost (D) Prime cost
%ﬁﬂﬁ!ﬁﬂﬂ H 8 R @ snadt a2 o
(A) i e (B) sufamd () weflavd (D) $9H @
A beta equal to 1.2 indicates that risk is

%A) above market level (B) at the market level
C) _below the market level (D) None of these

1.2 % a1 offeT (beta) Hferd @ @ fp aifan @

(A) STHAR & &b FW (B) AMAR ¥qT 9T

(C) WTIR &8 A= (D) &m 9 Frd 76

When was NIFTY cslfnhlishcd ?

&a qfad fopar v 2
N;\"):Tl‘g?"j (B) 1965 C) 1996 (D) 2006
hnnds returned to a creditor after challan but before bill we need to Fuss'
(A) Debitnote (B) Receipt pote (C) I{t-‘_l‘uctmn out(D) Rejec lon in
& W7 ) TN dAA & aTe uid e e 8 gRe dEr @ e # aw gl

ot dreft B | q
(A) A AN By sif@de  (C) swdipfafafa (D) sty smmm

Wi . «way" is the slogan of ‘

('x"gﬁ?u all the ‘rli ) !:/nrﬁll'un‘:ﬁ (C) 1c1cl (D) Raymonds
“With you all the way” __ ®IA0RT

(A) SI);l (B) dISTHIA (€) 10101 (D) s

A non-traditional, Low cost, flexible and highly tjI.}}:L'livyllzlfllrilac’ling is termed as
'A; Strategic marketing }H ‘i"ulli; 'Ll‘|l 11111]~;1rkt‘ lil'l%

') Direct marketing . D) Indire i .
i a—v:h-rrn AT e YT 1A 1 AT R |

(A) eI fauur (13) e fayue (C) dei faqui (D) 31wrget ferqury

Code No. : C-729/2021/5¢rles-A 0



32.

3.

34.

3s.

36.

37.

38.

39.

4[}1

A company
any hy 3
b 000 ¢quity shares of T 40 each. The reserve and surplus

is T 1,00,000
2 L] it II]C|
Uh Al o 00K value of company i

' - is
¢ A0 e IO,OU(I;H{IW?IW% l mmavmsrﬂﬁﬁ

2 1.00.000 3 |
) 20 A o g

(B) %60 (C) 210 (D) 50 ;

required rat€ ©

What is value of «

return is 1“:1: i:::d‘\'::?:“" expecting dividend of Z 4 per share,
RIEHT 3 4 984 91z e the end of the year ¥ 16 ? .
#17d 3 lﬁﬁmw;lq{g;m 10%anammﬂ‘ﬂatﬂmﬂ‘f* 3id |

(A) 220 A &

O P Tigis (© TN 215

Ted U %db propounded by Charles, H. Dow in the year

(A) ]‘)ﬂ'lg)‘n v aﬁmm\g@ﬂ,

The Cﬂpiial " _IB] 1‘910 | A% C)lﬁ_ﬂ i (D) 1999

process is known :swnaumeid by an economy or 3 firm in the production

" (B) Production cost
- (D) Dead weightg
#, eared wiwd 5 2

(A) Capital loss
(C) Depreciatiof

@ -
HEAT! 7 |
(A) Tt wf
(C) 3Faeqau
How many types
wifergrf 319 (9190 T8
(A) 8 ( oy
P/V ratio + variable cost

[1 ST

P/V W t l"
(A) 1 :
BASEL norms arc relaf d o
(A) Insurance sector (F Wing sector
(DY Tele-communication

(C) Real estatos s

BASELITI:#EE.WIFH% AT L o e

oo o s (g AT @) R GQBOY Fr 2

The provision regd aling DS, on salaries are contained in which Section o ¢

Income Tax Act” 4 oot ” | S | ]9 W O i ik

(A) Sec. 19 See - ec. 192 . . (D

I Hf“’l"—l’lLﬂ inﬁ_ng‘-!@%ahh %@Wbﬁm( )g.?eﬁ b

(A) aaor 190 (1) gazd 191 (C) AW 192 (D) dFE 193

Cost audit under Hulu;;ﬂlll—;: -:":“‘)EL:’):;I“(’ g)ﬂm gn_iesbzi\ct IS —

(A) Voluntary, A 11501 visable .

éqjﬁl -}Il'flv;i;qiqﬁ; Had1 .‘.Hf;l;:f STeta ATTd orET qhaqor (D) Aivmdnble

(A) #dfwindh (3)  AHEAEE O 3faa D
7 —_(_)__FFEE_____




41.

42.

44,

45,

46,

48,

.m
: . of medi
The maximum investment in Plant & Machinery in €8s€

enterprises 1s ) 250 crores

(A) Tlcrore  (B)_¥crores  (C) 25 crores (D

ne 3eW & fawy ﬁauaaﬂxmﬁwbﬂ’aﬁwnﬁﬁm% 7 50 9

(A RIHT  (B) ¥Tsalg  (O) 2250 (D) lowest price
While putting the value or price of an entity in financial records the .

) as:
is recorded not the current price or current market value. This is kno\:m
A) Conservatism Bg Business entity °°“°cgoncept
C) Expenditure concept D) Money measurement 1 JAfhd
farefi frapre A fytam

&1 Yo HYa Himd ql
fovan e & 3 ) aetwr K @ ada AT e | 78 FEET @
(A) e (B) UM wfeved deheddl
(C) @ Heheg (D) W1 WA Hehel

Profit and Loss account starts with
(A) Netprofit — (B) Net loss (C) Gross profit (D) None of these
T a1 B S 9 drn @

(A) & &N (B) v ®ifa (C) gFa@™M (D) it & T

In tund flow statement, repayment of long term loans is
(A) Source of cash (B)  Application of cash
C) Source of fund (D) Application of fund

e fam 3 e s e i @
(A) FHeFIHG (B) e H1 5w C) Afaamam (D) B sgwm
In adjusted P & L account, depreciation on fixed assets will be :
(A) Credited B) Debited (C) Tgnored (D) Deducted

P& L@l n, feon sifem &1 sem @
(A) 1 (B) 3um (C) 3 (D) wH

Fhe long term assets that have no physical existence but are rights that have
value is known as

(A) Intangible assets B) Current assets

(C) Fixedassets _ D) Investments

aém Theren suferal fiqa wid wifaes 1 w1a wi stferwm 2 Firrem we
HTAT R - a8 hEeTd

(A) 39d sferd (B)  adure sfeaaiC) faaa snfemi () faam

Investment is a

(A) Personal account (B) Nommal account

() Representative personal account (D) Real account
o .

(A) fanrd e (B) Aifee e

(C) ufafaty eqfawmra (1) avafam

While calculating purchase price, the following value of assets are
considered at

(A) Book value (13) New value fixed
(C) Average value fixed (1) Muarket value
-t orar amra Jua, e snfed Hedl ol ORI AT R |

(A) adfl gy (13)  foeqr e () ) W 1 ( ) RLEILRS (]

Code No, : C720/2021/Series-A L] o



49,

S0.

52.

The e i o .
When purchasing company bears the liquidation expenses, It will debit the
expenses 1o :

(C) Goodwill Account (D) None of these

99 7 ) T 0 e A AR G A Rt |
(A) foskar &l fmy L (B) & @l

(C) @nfa o (D) T A HIE TR

While calculating purchase consideration which value of assets is to be

i(-‘RI;SIgereE ! | (C) Capital D) Revalued price
00K value (B) Average price api

mwﬁmﬁmmﬁm%%mﬁ)ﬂﬂﬁﬁm g =1fee ?

(A) 98 = (B) 3ftga I

(€) g (D) FdeitRd HId

Com[;:any images and brand equity is factor affecting business :

A) Externall Internall
}_C) Govcmm}ént polic FB; Noneofjtrhese

H91 T 39 371 18 SR F WHIGd AT HRH & ?

(A) @Tera (B) sl () wrtAifa (D) 8 @ i 7
Ffl\a)nn(f}%galltgmﬁmf (B pliéjl‘;‘;?)lt (C) Time bound (D) All of these
JNTH ufEmR

(A) wEhmE  (B) aded (C) swa g (D) Te @
Laissez Faire policy is adopted in - cosite :

A) Socialist Economic System B) Capitalist Economic System
$C) Mixed Economic System }D% Communist Economic System
Heway fifq sEE e
(A) HWTETd) el fram i (B) deftard) anfele Frera &

(C) Ty anfel freama (D) arrard) iy faawm §

Which of the following auditing assurance standard deals with audit planning ?
Y H1 T AT T WA g - SRS 8 Sl @ ?

(A) AAS-7 (B) AAS-8 (C) AAS-9 (D) AAS-3

Deduction from Annual value is allowed under which Section of Income Tax Act ?

(A) Section 24 (B) Section 25 (C) Section 27 (D) Section 28

TR ATTGH b i 3 G0 Sierla q1fdeh qea & st whienrd R 7

(A) BFH 24 (B) #@R25  (C) §WM27 (D) HaM 28

Minor income is clubbed to

}A] Father’s income

Mother's income _ _ o
({i} i'.ill['hu?‘:lll' Mother's income whichever is higher

(D) Both Mother's and l-:uhur‘?' income |
e 4 s afefed A e I
(A) fodr &1 wa A (B) a1 h 3w

() et swegen wien fid A0 ﬂfafﬁ RA(D) 2t wren ud faan 6 amg @

" ———— — —— —



57.

58.

59.

60.

61.

62.

63.

6S.

— — —

An example of pre-control established by Management would be

(A) Rules B) Policies C) B f these
i S ‘Lé—’! i ) Budgets (D) Allo
(A) fram (B) fa (C) awe (D) TEEh

Quick ratio is 1.8 : I, Current ratio is 2,7 : | liabilities are
¥ 60,000. Determine value of stock. and Current 1

(A) 54,000 (B) 60,000 (C) 1,62,000 (D) None of these
:%awgm% I.SI: 1, S99 2.7 ; | a‘haﬁ&maﬁﬁ(;gﬁo,ooo% | &I

(A) 54,000 (B) 60,000 (C) 2162000 (D) FHAPHETE
Market value of shares are decided by :

The respective companies .
(&) The Soterment ™ (D) The Shashoider
Y (IRR) T TR o4 77 e B

(A) weftd sufai(B) FRwsvm () wen (D) ST

For Assessment year 2019-2020, taxable income of super senior citizen is
exempted up to rupees -

X FrgRor ad 2019-2020 F fev, 3fq afg i € w5 3@ w a5
[T R |

(A) ¥2,50,000 (B) ¥3,00,000 (C) T5,00000 (D) T3,50,000

If A, B and C are any three sets, then A x (BuU C) is

IR A, BINCHEE AN AT E A« (BUO)R

(A) (AxB)U(A =() (B) (AUB)*x(AuC)

(C) (AXxB)n (A xC() (D) None of these / §78 & #1§ T

If f(x) is an odd periodic function with period 2, then f(4) equals

Tfe flx) TadehTe 2 % HIY Teh fquq el wer &, a1 f(4) 5T

(A) 0 (B) 2 (C) 4 (D) -4

The roots of 1 + z + z* + z* = 0 are represented by the vertices of
(B) arhombus

(A) asquare o =
C) an equilateral triangle ‘(‘DJ None of these
(1-+)-z+z;l+z4=03511?liﬁ - _%uﬂﬂ”fﬁﬁaﬁﬂj‘ﬁmw%;
(A) T T (B) U HAATHS
(C) uw wHaTg fa (D) FH & HS T
24 (x-2)P +(x-3)P=0is
The number of real roots of (x — 1) * (X 2) + (X
(x — ])2+ (.r—2)3 +{x_3}2:—.()aaa'r§:‘[?iﬁ!?lﬁm§(0) .
B) | - B .

(l‘:)a ?:ricket cham(in}nship there are 36 matches. 'he number of teams if
t;:h_plnys one ma %h;:;lz}haoéhf;% p— A7 2w A 2 o
1 wHam R

(A) 6 _ B 9 ()12 s

Code No. C-7292021/Series-A 10



66.

7.

69.

71.

72.

73.

4.

1011 — 1is diy, Bible b
! ne of these

[r\] 9y
1011 -] i;:;lj_’ ?lllu (C) 101 (D) No
——— | =g
(A) 99 i - ;ﬁﬂﬂ-ﬁqﬂ
) (D)
104) (C) 101 162. Its

and the fifth is

The first term o 4 ..
si:-.l;;%ml IS =
(ET\ ﬂirm N e g 32 e wtral 162 v B3 722
(A) == By a3 (C) 239 (D) 243
The distance between the lines

4t 3V S ] and x L

S, Sv-oy=151s .
TS Ay - 3y 1781 8 - by = 15 % 4§ FAE 3

A) = 10 =
A To (B) —.,L— (€) % ® 3

The length walhc tangent from (3, 1) to the circle @+ y2 + 6x—4y—3< 0is
‘S'HHEﬁ‘"'i‘:‘ﬁl'—4}—3;0ﬁm&@1ﬁémﬁ

metrical progression is 32

(A) 3 B4 (©) 5 (DY 7

The eccentricity of the hyperbola
Ox- — 16_\: =144 j-_:,- Te30

TG 937 — 160y= = 144 & Iegal 8 2
X 5

(A) 3 (B) 4 (C) 12 M) 3

If sin x + sinx = 1, then cos=x — cos™xis

afe sin x = sin"x = | & Al cos=x = cos*x B

(A) 0 (B 1 (C) 2 (D) +

The angle of elevation of a ladder leaning against 8 house is 58° and the foot

of the ladder is 9.0 m from the house. Then the Icn#g of the ladder 1s
TR G €1 T I 3o 2 3 TR A B ol W 9.6 mF R 1M

i) 1 7T 2
(A) 11.8m (B)y 12.6m (C) 13.9+m (D) 15.36m
If A and B are symmeirc nlanees. then ABA is
(A) Symmetric (B) Skew-symmetric
(D) Triangular

(C) Diagonal .
aﬁaaﬁtamﬁﬁm%.m:\m%
(B) frqm-wafsd (C) faad D) fEh

(A) ®Hfd |
The function fix) = 1~ SUHRIE . _
(A) dilTerentiable cven® here l[B){ differentiable nowhere
(C) continuous eyeT? W h:_crc ( continuous nowhere
flx)y=1 - sin ] i ‘ﬂ?‘j A7 B
(A) Tl TR STEFEETAE (B) STHTH FE T

' (D) Had Hgl Tg]

(Cy =¥t 7re JAd
d . W
( Code No. : C-729/2021/Series.A



75 ] X (1 + log x) dv equals

p W\ R L & (' ! .
(A) & +¢ (B) alogate (C) et (D) None of these

J ¥ (1 + log x) dv s{TSR

X 4 ¢ v xy+cC C w'oo _
(A) ™+ (B) x¥logxtc (C) oy (D) ¥ & 9 7
w2
76. J log (tan x) dx is /&
0
m’?
(A) J log cot x dx (B) ‘%‘.'ng:
3 2
(©) %logz (1) 0

77.  The ditferential equation of all conics having centre at the arioin ic ¢
wfl v et v 3 9 R 39 StaEe Hriia gy -,:'m:lg origin is of order

(D) §
78. The angle between the lines
2x=3y=-zand 6x = y=-4/s
Wﬁ 2x = 3y = —z 4l 6 -y 4z b "J'I:,' r.};]u; 2
(A) 0° (B) 30° (C) 45° (D) 90°
79. @ (@ * B)equals to
@ (2 xB) & TR R |
(A) 7. b (B) a’b (C) 0 (D) a° -« ab
|
80, J x (I =x)* dx equals / =t7a
0
A) l 1 Lo D) —H—
(A) To010 B) 10100 ) o100 () o010

81. 4 persons are selected at random from a group of 3 men, 2 women and 4

children. The probability that exactly two of them are children is _
3%&3'?"&@‘{?4 ¥ |E 7 Arafed | AfE 90| IH Tea: 6 aw
(A) 4 0 D)

o 2 B) () (D)3
Code No, ; LT!!-ITZUI‘G(&H@I T 12
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U

§5,

§6.

\ 81

§8.

89.

90.

The I“"“tml;]““._y o haviy,, il |
Qq"fﬂ’c@ bl W W gy th SIStone il in 4 throws with a com 15

{ [ s, .
) 16 (1yy 1 b gk g ST o e &
[.'\ I{l . I"h . 3 3
If the mean of the binom;, ©) 3 (D) &

dien the number of evepy distribution is 20 and standard deviation is 4,

IS

e TG ST BT I 208 gy .
A) 200 By gy 1% fargrerm 4 2, 7@ w1 61 A 8
Vhich 18 not & measure of centr (C) 80 (D) 100

A) Mean (13) ral tendency 2
o 1 R R 1 e gy (C)” Mode (D) Range

(A) T (B) wupy |
The standard deviation of 5 g e (C) =geth (D) WH

1,2,3,4,51s Eﬁ

5%1,2.3,4,5311%%%

(M) \2 B) 3 ,
Geometric mean of 2,22 23, () 4 (D) 9
2, 22, 23, ...... , 21’1@' qu—'_'ﬁ—a m{?_‘[ 3‘ LS
n-:] n- | ) .
A) 2 - (B) 2 - ) o2 5y 2°
gf in a frequency distribution, lh-_:[m)ea:ﬁ and media(n )are 21 and 22

respectively, then its mode is approximately
a3 U ARETTEN 9 <h HIVA T ALy 7w 3] 36 22 8, ) $0eT GEereh ST &

(A) 20.5 (B) 22.0 (C) 24.0 (D) 25.5
The variance of the first n natural numbers is
n?+ 1 n- - 1 n2—1 1
(A) T2 (B) 3 (©) (D) Nonec of these
YW n WThfcreh SEAT &1 TET ¢
241 2] 2] N R
Okt B) " © "% (D) v & B e

The average marks of boys in a class is 52 and that of girls is 42. The
average marks of boys and girls combined is 50. The percentage of boys in

the class is - .
T a7 § T & e o 52 A1 WghHAl % 42 § | Fed TE ool i
ﬁamasai’reﬂmﬁsuglsﬁ%wﬂmqo srﬁma%([!))

75 C) i ' 85
A%’. nzgrks obtaincc(i%)y 9 students in a mathematics test are :
50, 69, 20, 33, 53, 39, 40, 65, 59

# -

The mean deviation from the median is
Tfore e & 9 ferentfefa gror S A1 €
50, 69, 20, 33, 53, 39, 40, 05,39

Tor § M freer B o
(&) 9 () 10.3 () 1267 (D) 1476

— ———
——
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95.

96.

97.
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Consider the numbers 1, 2, 3, 4, 5, 6, 7,8, 9 10. If 1 is added to each
number, the variance of the numbers so oblaincd'is

,2,3,4,5,6,7,8,9, 10 ¥ 3l | o7 § 1y | gfe e 37§ 1 ST
al TR T B 3R] i T B

(A) 6.5 (B) 2.87 (L) 3.87 (D) R.25

A single letter is selected at random from the word ‘PROBABILITY’. The
probability that it is a vowel is

‘PROBQB]LITY’ e B ATGTH T i g iy 17 | 98 991 % @ER Y

1 4 3

(A) 3 (B) 1i © & ) 11
Which method is used for statistical quality control ?
Eg) gg:qu?ntial ;ampling y (B) Stratified sampling

: imple random sampling D or samplin
T i 38 A e At sampling
(A) Rl v (B) wifta wheraan |
(C) &t arf~os afe=ad (D) 7= wfaamT ),

Error is positive when -

(A) Absolute value < Relative value (B Actual yalue < Estimated value
(C) Actual value > Estimated valug” (I3) Nane of these

Afe TRHE 2 o9 '

(A) Fraey o < gmg Ay | 0B) TrEfaE qH < ITHd °H

(C) aTeafas |t > srafes o (D) 3 @ 7

In which type of distrtbution. mean, median, mode coincide ?

(A) Symmétrigal . (B) Asymmetrical

C). Muaderately asymmetrical (D) None of these
ST g 1 TTed, HORY, Agesh HUT 8 7

(A) Hgfrd (B) smmfi

(C) wafera svwfira (D) ¥ & g T
Which hypothesis is also known as statistical hypothesis ?

(A) Altemate hypothesis (B) Null hypothesis

(C) Both (A) and (B) (D) None of these

I I TREHEHT Y Fiftaehr i1 i el S @ 2

(A) T TR (B) Froshuofi g

(C) (A) 3 (B) 3 (D) & & g 7

Goodness of fit of a distribution is tested by

(A) Chi-square test (B) F-test

(C) T-test (D) None of these

T ol WHSA-Fgan oy v frgn S &

(A) FE-Fulem ) -ohem  (C) TR (D) Tl & A

-"'—H"—--——-n_—_—__
—— —
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- 10s,

99-. Sa

100.

102.

103.

104,

.ch of the following s ..
Whi Direct rclanqnshfﬁ IS cause of correlation ?
Mutual reaction
Correlation due to 3
None of these

oW

ny other common cause

wRIg Y e

A .\ B
(©) ﬁ*@“*ﬂﬂmmam-;g} i A A

mpling eITor 1s incompl :
ted complete enumeration.
(A) estirma existent (C) non-existent (D

o MH | qﬂ

) (B) e ) st (D) ﬁﬁ-ﬁaﬁi 4

'L{ltéeoligfﬁelélgg .and more than cumulative frequency plot should intersec a
(D) All of these

A) mearn (B) di
%wammﬁuﬁmﬁﬁgf o sferee T =S |

) None of these€

(A) A (B) wewy (C) =ga® (D) az oft
ich is an exception to the law of de 9
EA} Giffen’s goods Ho uggnd[)‘cnlonst_ration effect goods
C) Future scarcity of _oudsq ED) All of these
7t % frgia 1 AT HH A2 2
(A) T A (B) we3iA s AT
() TTet i wrelt et (D) Fg@ft
Concept of ‘Consumer’s Surplus’ was evolved b
{A} r. Alfred Marshall P sf_{l:i;)0 \JCM ?&e nes QE']]
C) Adam Smith . (D) E. Bouiafing D)
(A) &1 HTEHS AT (B) 3.UH. I
(C) e oy (D) 3. T
The law of demand is a | o
{A} Selective statement }Bg Indicative statement
C) Qualitative statement D) Illustrative statement
w1 fagid & T

(A) FgATE e (B)  Feamd B4 () TuiTeHe e (D) TAgelt wed

Which i implici { production ?
ich is an implicit cost ol pr %B Rent on building

A) Wages to the labour _ .
{C} Interest on owned money capital (D) Payment for machine

L IeqTe AT 27 |

(A) Wﬁﬁmmﬂﬁﬂq (B) Wa;ﬁ;(m

(C) Fefi g1 oft we =T (D) FAH fere yyram

The Mahalanobis model was developed for which five year plan ?
(C) Third (D) Fourth

(A) Fi Sec d . -
e e g T T R T o 2
(C) drad (D) =efi

) e B) g R e e

s
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107.

108,

109,

110.

111.

112.

e ——— ———— e a—

A long term analysis ot production is called
A) Economies of scale B) Law of returns
) Law of variable proportion D) Law of increas

(A) Y Y == (B) ) 3 whwet o G
(C) whadaeiier smum a1 Rrgia. () v et 1 €T

Corporate tax is imposed by

A) Local Government B) State Government
EC:-) Central Government tD% Both (B) & (C)

W____ Hgmar e | o
(A) WHEwET (B) TREER  (C) @R (D) A (B)T(C)

The four factors of production are

A) Land, Labour, Capital, Organisation
) Land, Electricity, Water, Cabour

C) Labour, Capital, Land, Rainfall

D) None of these

1o scale
ing returns

IATA Fun P §
(A) I, uw, gsfl, T (B) wf, fasreft, o, o=
(C) =, §sft, wofta, =t (D) FHA®IS I

A firm is in cquilibrium when its
A) Marginal cost equals the marginal revenue
B) Total cost is minimum _

C) Total revenue is maximum

D) None of these

T GH e | @ o Jwh 1 )

(A) Tomra s e {fdiG o= & AB) Fe e e R

(C) T g G e W (D) $7° | B T
Collective'Consuniption Mmeans . .
A} Heusehold cofSumption %B% Individual consumption
EC'-.__SeI{' cunsimption D) None of these

(A) Uit Fwd (B) af@wma Iy

(C) & Iqim (D) 3 61 7

mch marginal uti{it is]zem, the total El]i“t{*iis- (D)

nimum ) _ Increasing é Maximum Decreasing
T fAT Ui I 8, Hel 3Tl
(A) A (B) WA (C) AEE (D) FRMW

The ‘Break-even’ point is where
P

A) Marginal revenue cquals marginal cost
B) Average revenue cquals average cost
C) Total revenue equals total cost

D) Noqcofl%:%:%e

w-fawe fg aml . :

(A) Wi 3T o @ i v (1) SR R W R S e 3
(C) TAFREH G ewT S (D) FTHH B 7

il i gy Yty
S — —
e
——
———



ginal revenue of

Ho mar . 1 T
hlj' ( ) more than price Opolist is ‘
| ¢ than price (13) equal to price .
(C) - Eg‘ ANy R (D) less than mﬂI‘B“"“l cost
| &hAd 1L
! (8 £y & HH (13) e F IO
L (D) i T g &

eller market denotes a situation where

l[" A) Con]ll'lOdI[IL'S dre ‘]Vﬂlil,
Wy l.lhlc :ll - i .
B) Dcmand exceeds supply competitive rates.

Supply exceeds demand
p) None of these
(A) Wa%wmmﬁrﬁ% 1(B) Wi o R g @
() ‘{ﬁ‘“ma; | (D) FHAPETE

m production of a commodity mostly through the natural process is an activity of

(A) Primary sector (B) Secondary sector
%Temm‘y sector (D) Technology sector

s 1 IeqTe qEdd: Wrpfas ubman | s A fra @

T i qerTeT &1

(A)mﬂﬁra?a?ﬁ B) fftamia () gdwmad (D)

116, Government securities are considered liquid because they ar€

(A) Backed by the government treasure
) Convertible into other types ol saving deposits

(C) Quickly and easily marketable
(D) Stable in value o e
Tl sfegferal et Tl Sl & e A

(A) T @ | gAY Wl € |
(B) ﬂW%WWﬁWﬁW@WWﬁ%I

(C) T o armar A foawa 2 |
D) RrEqeaH

117, The difference between the GNI
A) Consumer expenditurc on ¢
C
D

» and the NNP is equal to the

jurable goods

Direct tax revenue
Indirect tax revenuc

Capital depreciation . :
GNP 741 NNP & a1 ol 371 R E —
(A) Rewres awqatt W gl (B T
(D) 3l T

€) sy &t Am™
Nationalized Banks of India i ]
R B) F inance Comllgilsssﬂ;:rtlcnnlned by

11g,
lnlem%eitnoar:l ga\g?g deposits in all
€ J{
} inister (D) RBI

A
{C NITI Aayo fautie
e g

%mﬁﬂ%ﬂfﬂﬁuﬂﬁﬂmma—f MR e R |

~ fwh gy farf ST ki
B . 7 CodeNo. T C7297202178
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L19. Which is not the main objective of Fiscal policy in India ?
(A) To increase liquidity in the economy.
(B) To promote price stability.
(C) To minimize the inequalities of income & wealth.
(D) To promote employment opportunity.
T 3 TroTeR g Hifer o1 e 38T T A R 2
(A) a7efaa 3 aeerar ag |
(B) et ) R o) wiearg & |
(C) 3T TF 4 hl SHAHATHT I FH BT |

(D) TSR 79T ! TiedTsT ol |

120. When there is an official change in th
then it 1s called i
. fion
(A) Appreciation (B)_ Depreciation (C) Revaluation (Dga aDgﬂa
Tt o3 o fafema ot i o e AR R g A1 e

(A) gtz () v (O wE (D)
121. Geographical location of LLP. is
(A) 30°22'to 33°12" North and 75°47" to 70°04' East |
(B) 28°27'to 31°24’ North and 77°43' to 81°15" East %, %
(C) 25°27' to 30°21' North and 71°45" to 75°48" East. 5, ©
(D) None of these : .
fe.w. =t witmitferes & & % \.
(A) 30°22' 9 33°12 IR AqTSU7H 79904 qd
(B) 28927 A 31°24 AT 27°43 W81°15'
(C) 25°27' € 3OO ITLHAT TS E 7543
(D) T PRI T
122. Sexfatioof HP. asper census 2011 is
T 200 STTER fe.5. 1 e &
(AR 109 & (B) 115 () 921 (D) 972
123. Which is the largest artificial lake of H.P. ? |
(A) Renuka (B) Rewalsar (C) Pandoh (D) None of these
fa.3, Y T g1 Fhw e @ o |
(A) TIH (B) TR (C) 9USTE (D) T | IS TE
124. ‘Gauri devi ka Tibba’ is located in which district of H.P. ?
A) Bilaspur (B) \I—[qmipur (C) Chamba (D) Kullu
Eﬂ%iﬁﬁﬂﬁ'ﬁl’%ﬂﬁﬁ?ﬁﬁﬂﬁiﬁﬁf@ﬁ%?
(A) RemR (B) FHRE (C) == (D) Feel

hich district of H.P. ?

e exchange rate of domestic currency,

125. Bhoranj sub division is located in w

(A) Kangra  (13) Mandi_  _ (§) Una (D) None of these
v T9-r7ge fR,3, 3 A 4 (ot e 2 2 |
(A) HiTEl (3) "€ (C) & (D) T | &1 T

e ———— e e .
——
e ——— S— . e
— ey




133,

134,

130.

131

132

alaich festival is cel
PL}‘ Sirmour (BL}L'JF ll]Ld m which dlstnctofH pP.? (D) .

; ean nla

N

(A) (B) Hrm ©) R D) R

u] 1l£z|ur|:, celetrated i \"-thll district of H.P. 7~ .
%1% iéf; -thaul-Spiti (C Chamba (D) Sirmour

gﬂﬂ w5 Rt 3w s

O (B) Trie-whft (C) arm (D) fwi

The youngest girl of H.P, 1 g; _
(A) Arti Sharma_ (B) Arubé';;l,;lwo%lg)E‘};ﬁitﬁséna (D) Dicky Dolma

TR CRE B f.9, ) wargy o1l gl 2
(A) aﬂFﬁmﬁ (B) ¥fiwem (c) T (D) 4t SieHl

Which is the longest serving Chief Minister of H.P. ?

A} Dr. Y.S. Parmar B Shanta Kumar

Veer Bhadra Singh Prem Kumar Dhumal
Eafm% i e mﬁwm%’;%%‘ @E
(A) T 9HE.TH. THR (B) ¥Tdl $AR

(©) o fig (D) 5 HER G

In the battle of Merli Shal & Waja Sansar Chand-II of Kangra
defeated which of the follc:\l.:ﬁé lr;7\‘6 AD)Raja

A) Sahil Varman B} Lakshman Varman
C) Raj Singh ED Keliri Singh
TER §9 (1786 &, ) & e N gER Te-11 7 Y fyfoRaa # @ fFR

A A1 ? - . .
(A) wiEErads @)  wmad () e faE (D) &l g
Jsord Ma¥0 visited Shlmla in which year ?

(A) 186 1871 AD - (C) 1881 AD (D) 1891 AD
mﬁﬁaﬁﬁﬁmaﬁ 1 AT 17

(A) 1861 3. By 18713 (C) 1881%. (D) 1891¢%.

Hlmala an Hill State men il Council was formed in which year ?
SAD (B) T939AD (C 19:;%D (D) 1946 AD

et T TG TS EIRSE]
(A) 1935%. (B) 1939%. (C) 1942%. (D) 19467%.
Who was the first Chairman of H.P. Administrative Tribunal ?
} Justice Hira Singh Thakur B% Justice M.H. Beg
C) Justice R.S. Patﬁak D)_ Justice P.D. Desai
. TITa Y 31Tl < TUH HeAE B A ?

(A) Wi fa fog o8 (B) Sie® WG9, a7
(C) ferm 57R.UH. TeF (D) wifezg 3. 2w

et is constructed on w hich river of H.P. 9

Ne
ongalgéi;gelumL me'l,aﬂll_l by (C) Bcaq 3 (D) Chenab
T qicaTaAT 8.9, ?fl T
{A) T ) @aga (O = (D) S

————— —
e e e e —

————— —— ——
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135,

136.

137,

138.

139.

140.

141.

142.

143.

e

Tem ; i : lace OfH.P- ?
perate Forest Research Institute is located at which P ) Sun demagar

(A$ Shimla ~ (B) Kasauli (C) Palampur

T FTEUT Te 1.3, A e e R g 7 :
A) e @) w@e (© wex (D) T
Who is the author of recently published book ‘Reporting India’ ?
(A) S. Jaishankar (B) Prem Prakash
(C) Sushant Sareen (D) Sheela Bhatt
BT 6 it R e g 3 o H & 2 ,
(A) . AR (B) Y¥EW  (C) guiawta (D) e
What was the rank of India in the doing Business Report 2020 ?

(A) 63 (B) 72 C) 78" (D) 88"
‘ggﬂﬁc—ﬁaftqﬁizowﬁmwm )men?
(A) 63af (B) 72ai (C) 78at (D) 8&af

Communication Satellite CMS-01 launched recently by which organization ?
BE 8 1 B Y R A AT 39 CMS-01 wefid TehaT ?

(A) NASA (B) ISRO (C) JAXA (D) ROSCOSMOS
Which country observed ‘Martyred Intellectuals Day’ on December, 14 7
(A) India (B) Srilanka (C) Pakistan (D) Bangladesh
Y 2w A R, 14 9w aifgs faa v ?

(A) W@ (B) e (C) wifemm (D) ey

Pleasure : Sorrow :: Right : ?

(A) Wrong (B) Wonderful (C) Happy (D) Sure

g q@ o HE 2 :

(A) e (B) A (€) & (D) ffeaa

Which single letter is exactly between the two letters — one is 22" from left
side and other is 19% from right side in the English alphabet ?

F W TH AU S U B G A A @ 7 372 qutETen W s &t o | 2241 R
3R ggy gt iR @ 1981 2

(A) M (B) N () L (D) K )

* ]

In a certajn code, ‘975" means ‘throw away garbage’, ‘528’ means ‘give
away smoking’ and ‘213" means ‘smoking is harmful’, Which digit in that
code means ‘smoking’ ?
fpelt e ¥ 975" @7 e ‘throw away garbage’, ‘528" 1 3% ‘give away
smoking’ 3 213" &1 1 ‘smoking is harmful’ ® | S8 %2 § B @ 37 #
aref ‘smoking’ 8 7
(A) 2 (B) 3 (€) 3 (D) 8
Which is the wrong term in the number series

17,23,31,41, 53,697 _ .
Fe Alt 17, 23,31, 41, 53, 60 § FF F1 98 e B 2

(A) 23 @) 31 (€) 4l (D) 69

e ——
g o e — e ey .
— ———
[—
—_—
— ——— ———




Wwhich is the Upaved

[+ A) Dhanurveda
(C) Shilpaveda (B) Gandharva‘o'edﬁ

memg 5 (D) Ayurvf:dﬂ
A) ugeg (B) e
L ) ey (©) freg (D) TGS
hibition of an

i 11. . . Koy
which Major Rock Edici of Aghoka is related to PO

Lot
POl Samayedq 2

imal

W5 WU
sacrilice ?
(A) Major Rock Edict - | o
(C) Major Rock I:d:t: - i“ (B) Major Rock EdECt - HW
9N A H U= fereg & g (D) Major Rock Edict
(A) A fren-Ta- | RCRRHCE é%gﬁ@.-n
(C) e ferenr-=@ - 111 (B) T&A g
(D) g@ﬁm-@r@—l Eﬁ
fal

‘Gita Govinda’ book was written by

146.
(A) Amir Khusro (B) Minhaj-u 5-Siraj
(©) ]ay@d:a e (D) Chand Bardai
g -TiTee & @i feran o
(A) e (B frrgra-aa-faws
(C) FHEA (D) =g aw@r 3

{47, During the reign of which Mughal emperor painting reached at its Zenith 7
(A) Akbar (B) Jahangir  (C) Shahjahan (D) Aurangzeb
ﬁéw%mmnﬁmmmﬁ%meﬂ? .
(A) ¥ (B) I () TESE (D) HE

148. Moplah rebellion took place in which year ?
A) 1921 AD  (B) 1937 AD  (C) 1935 AD (D) 1947 AD

fyerg fpm gd gamn A1
(A) 192173, (B) 1927%. (C) 1935%. (D) 1947%.

149, Indian National Congress oplit into two groups during which session ?
(A) Surat, 1907 (B) Lahore, 1929
(C) Lucknow, 1916 (D) Karachi, 1931
Wuﬁﬂmﬁﬁaﬂﬂﬂaﬂ?ﬁmwaﬁmaﬁﬁm ITRord 7S 2
(B) @R, 1929 (C) @ s, 1916 (D) %1, 1931

(A) g4, 1907
150, Pannalal Ghosh 18 associated with which musical instrument ?
(A) Vecna () Violin . %C) Flute (D) Sitar
meﬁéuaﬁqﬂmﬁﬁmﬂ z .
(A) or (3) AP () =gl (D) faw
151, Which planet has fastest rotation in solar system ?
(A) Mercury () Venus . H%C% ‘?Mars (D) Jupiter

_._..—._—____..._-___-

B iy § e | 77 B IO .
T (C) ¥ (D) gewfy



152. Bora, Mistral and Sirocco are _

(A) Ocean currents (B) G!acners

(C) Local winds . (D) Rivers

(A) HEETR YN (B) fawae (C) Wy (D)
153. Grassland of Eurasian region is called N

(A) Steppe (B) _Pustaz (C) Prairie . (D) Pampas

& TITHEIH 1

(A) =Y (B) g&ITSA (C) w3t (D) Y=ITE
154. Which Indian state has longest coastline ?

(A) Andhra Pradesh (B) Kerala

(C) Tamil Nadu R %)) Gujarat

B A Wdg T FI 721971 998 ol 8 2 _

(A) duseE  (B) (C) dfterg (D) TR
155. Which is the longest river of Peninsular India ? o

(A) Ganga (B) . Brahmaputra (C) Godavari (D) Mahanadi

TrafEdig yra 6 Tae FE T S R 0

(A) T (B) FRIEH (C) Te@m® (D) wEFE
156. Which is a plantation crop ?

A) Tea (B) Pepper (C) Turmeric (D) Sunflower

HE HA R 2

(A) = (B) fird (C) wwel (D) HhgEt
157. Which articles of Indian Constitution deals with the ‘Right against

Exploitation’ ?

(A) Atticle 14 & 15 (B) Article 19 & 20

(C) Atticle 23 & 24 . \(D) Article 25 & 26

Wl FIYH % 1 @ s7edg T & faeg sl @ ey w@d 2 9

(A) IT<Dg 1479715 (B) 3T 19 @ 20

(C) 3TT=g 23 741 24 (D) =g 25 U1 26
158. Joint session of Parliament is presided over by which of the following ?

(A) President (B) Prime Minister

(C) Speaker _ . (D) Vice President

ﬁwﬁ%ﬁﬁ%ﬁqmiwmﬁmmmﬁ?

(A) TrEafa (B) wumwAl (C) v (D) Iwrpufy
159. Which is a ‘Maharatna’ status company ?

(A) SAIL B) GAIL (C) BHEL D) Al

ﬁ??ﬁmaﬂmq(s )ﬂ ek (D) All of these

(A) SAIL (B) GAIL (C) BHEL D) =7mm

Code No. : C-729/2021/Serjos. A

—— - —— ————

Sy




8

—

"

162

63,
164,
165,

166

167,
168,
169,

7,

which is used as shavipg mirror ?
[= r '

Convex mirro |
(2)) Plane mirror r (B) go?;a:;-: l?:;;or
Wm‘flﬁﬂaﬁmmaﬁmﬁm% 'SD) 0
@ T D) g () FE (D) - A B T
Water £as 18 composed qf
onoxide and Nitrogen

(A) Carbon monoxide and Hv bon m
(€) Methane and ?arbgg dfli?éﬁgm Eg)) Hote of these
qN-aI{TﬂI—ﬁH =1 §1a7 -

@) T S AN AR E  (B) ﬁ:ﬂﬁmﬁgﬁnmﬁmﬁ
(€) A9 3N FHTeH TR D) o B o

Measles is caused by
(A) Bacteria  (B) Ving -+ (C) Protozod (D) Fungus
@@ ___ e ]
(A) Y (B faum ©) st (R) 7
Antonym of ‘Sordid" is : A U

(D) Splendid

(A) Steady ~ (B) Enthusiastic (C)GEUSEOW

One word substitution for "Regard fer others ds a principle of action’ 1§
(A) Cynicism  (B) Nepgtifm ¢(€) philanthropy (D) -Altruism

Isawa____of wolvel rodmiga around the forest

(A) flock L (B) Sgeetip (@) herd (D) leCk
Meaning of theiidam ™ To begaers description’ 13

(A) A pooristatement :

(B) To describe things without care @;

(C) Beyond one’s power o describe adequately

(D) None of these

T ® AT @ '

(A) % (B) e (C) EREIIES (D) TIES
Y w1 wartaaTe I B |

(A) 3nqar (B) el (€) g (D) e

T T HgTat 1 Y B
&) Tee () sgag@a©) frfEm (D) s g

ﬁﬁﬁsﬁmm@'%ﬁ%?@ﬁm%
W@ fw O R @)



